X132 7"7 '0I0 2,70 YA 702

In what do they argue — 93°95 INR2

OVERVIEW

»aR asked if the npYomn between 71271 " (where 11"192 92K XY 2"192 AR '2) s
(even) when the v3 is 77w >"nnn XX, then what is the explanation of their npYorn.
Our mMoon explains why the npY7nn in the case of o7°1w "N XX VAT cannot be the
same as 0;77°Iw °"'mnn XYY VAT PX.

nvoIn asks:
- 111\’)24‘1 VY 1195 29I9NINA 2NDAT N1IIDI 9NN ON)

And if you will say; and let the X7n3 state that the 7127 and *"1 argue regarding
the concern of "9¥9mR, just as in the first 7w».’

Mo0IN answers:
— 1IN 2297 RNYOT 91099Y NIIN NP NIYWIID XNOYWAYT PNYY 13929 99IN)

And the "9 answers that regarding the first version (where °"mnn XX 07 X

07°1w), it is readily understood that we can say the reason "9 is 1won is -
— 110NN 1Y 1 HNNHN RIN RYY VI PRT 1159 I9HINY YN XYY DIVYN

Because "1 is not concerned for °2vmR, for since only the = nm 7v is
delivering the ©3 (and the two who say 2"191 are not ’m>w) -
— VXN NYY NINY 29D Y1592 1IN NNINN TYT ‘oywn XY XA
It is evident that because the 72 nm 7v is a w7 mow, therefore he is believed
even though he is an individualj; this is evident -
— *2'MYY N1 KT BIUN S9N NANIN 139298191
Since we require two witnesses for the 572°n>, because they are not 2’m»w. This

is only regarding the case where 071w >"'nn XX VAT X -
—DVNINT WNIY NIIN DNV T HNNN RYY VIA NY SPINT NIV INND JAN

! See previous X7 7"7 '010, that »ax maintained in this second WY that the proper explanation of the np¥>rn should
preferable be regarding *272m°X (and not regarding X271 727); why indeed cannot we say that this is the np12rni n720.
See TIE there, footnote # 3 and ‘Thinking it over’.
* Just as in the first P where the 3 is not 271w *"rinA XY the 1327 are *915m°X> W and *™ is not; similarly if the v3
is Q1w >"nnn XYY the 3327 are "99m°RY w1 and °"1 is not. There seems to be no difference between them. [j12711 >
will both agree (in the X1°7n& R1w°?) that 1"1191 was instituted because of 7nw? like 727.]
? The 7v who says 1192 must be a 31 m°2w in order to be believed (according to everyone).
* The w"wA deletes the word 'awn', and reads "TvT XNPN'.
> There are two people (who are not ombw) that testify 3"192 and one m9w who testifies n"192. No one will
mistakenly assume that since here one 7¥ is sufficient for arp, therefore by m uw also one ¥ will be sufficient for
arp; everyone will see that this one T¥ is special for he is a m%w, for when there is no °?w, two 0>7¥ are required (to
say 2"191 [or n"191]). See “Thinking it over’.

1

TosfosInEnglish.com



X132 7"7 '0I0 2,70 YA 702

However, according to the version that establishes the miwn and the npyomn
between 7127 "7 in a case where the ©a is 2751w >''mn» KXY, there is the concern
of "1 R (even according to >") -

$0XN MDY 23 NY?I NANIN DY TI¥NN TYT 11°9 NNN NI PR RNYNY
For now there is no proof that the 7v on the 72°nn1 is special for he is a 5w, since

the 7 who testifies on the 172°n> is also a w7 92 and nevertheless we require two
0°7¥ (in this case) to be °won the v3; showing that M5 is not a special situation. This will lead
people to believe that we require only one 7v for mnvw 21p, just as here one 7V is sufficient to
say 11"192 for L7 QVPp.

SUMMARY

There is no wwn of *71°X (according to °"1) if the one who says 11"192 is a 2w and
the two who say 2"191 are not 2°m?w; however if the one saying 2"191 is also a m5w
then there is the ww of "®191°X even according to *".

THINKING IT OVER

It appears from M0 answer that it is the 5"192 which prevents the wwi of *217°KX
(according to *").° However in a regular case where the m9w states 11192 it is not
the 5"192 which prevents the wwn of "9, for 5"192 is necessary for 'mw®, rather
it is the fact that >3 X2 12v7°. Why does mpoin maintain (here) that it is the 2"192
which decides whether there is a wwn of 215X or not?®

® See footnote # 5.
7 See [bracketed end of] footnote # 2.
¥ See 1"nX # 64-66.
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